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g% b.“.,,\ \e’\i‘ =W Qi ’Dlufm Ahe 'ﬂ:ak\{‘(?qJ\:W:e)
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Q@3 AECB%¥7DS$EBSCP3IDES9@2¢, | .aldthe vowels are
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LUWAY = VA + B+ + 221426 = Bu x &
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S \)ou)e,\'; — E y L omd L
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akd gyt gt

N, T,0, E > 2 wokd’, - Note , ToNE
Com bmrfmul
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5and 4 LHupccHVU# and %ﬁbt Qe mu,Lh'fl/'eq’ o
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Numbey _with Commén Chanqcpeuntia, —

SN NN AN

Que Guven sef (1, 82,4)
@ (%,16,29) (B (7,2.19) (B (6,18, 2y) @(8,!6,%9

SO iat mumber ya = Second mo - j(y2 - 92
Sechnd Mumber xg = P No =2 A =4y
&r‘mlauly

Tx2 = 1¢
[6x2 = 82

CD\_%( (hwen ot [S,ls,uv
@ (24,18) (B (3'3.36) ©(1is,a) @ (%3¢47)
B0l Second  amd Hhwed  mumbeu e mudhole. o

Fruat wmben _
Srleed
S*3=1s 3% ¢ =13
SXB:LIO Q)('?. :gé

O Griven et (5,914

@ (v.8.1¢) () (erm12) O fa,n08) @ (8,102
M T g;,‘mfldﬂiﬁ
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